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Criyio : 22 wenfl ] [ Gorgs wHuCluearsdr : 100
Time Allowed : 2% Hours | [Maximum Marks : 100
sifleyeny : (1) S@aisg ellamas@nbd Fiwurs xsl udleurd e aTaTgT eraTUSem e

sflurigss Qaerdratab. ssludlella @opllmula smns
sansrasiiuurerfiLb o L anguwns Ggfleliésen.
2) B Sieg smHUY @wulenar L HGW apgusHEU LWaTUbHSS
CGeuewr(Rib. UL Mmise euenfeusm@ Gluensfler LweuHSSaD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

{2) Use Black or Blue ink to write and pencil to draw diagrams.

@MY : Qaalamggrer premg Y feysmens Clareammg).

Note : This question paper contains four sections.

Sifley- 1/ SECTION -1
(g uGluanaer : 15) / (Marks : 15)
@iy = () @Uuafleld edrar 15 ellaméaErseEd elaLwafléseayb. 15x1=15

(i) Gar@ssLLLHeter Bren@ el saiid Wsab sflwrer efleLews
Corpts®ss GMupen eflep@emerjd Gotdg T(gs.
Note : (i)  Answer all the 15 questions.

(ii) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.

1. f(x)=x2+5 crafley, f([—4)=

(1) 26 ()21 (@) 20 (/) =20
If fix)=x*+5 then f(—4)=
(a) 20 (b) 21 (¢) 20 (d) =20
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2. 142+3+...+n=k erafléd, 13+2%+. . +n® eranug :

(1) 2 () K @ — (%) (c+1)

If 1+243+....+n=k, then 13+23+..+n3 is equal to :

(@) k2 (b) k3 (c) = (d) (k+1)3

3. 100n+10 eramugy) e Qgri euflansuflen n Bpoug) 2 MUy erafia g
2) am sl (5 Cami cuflens

(
(=) @m Qunasss Asrit aflens
(@) e wrhldls Qsmir euflans

() em sml_(s Qe euflensud sieve QumEES CgTii euflensiyd Diee
If the nth term of a sequence is 100n + 10, then the sequence is

(@) an AP

(b) aG.P.

(c) a constant sequence

(d) neither A.P. nor G.P.

4. x2=2x+7 eTeiUmS Xx+4 e au@sEGL Curg daLdeEn B8

(1) 28 (<2,) 29 (@) 30 (rr) 31
The remainder when x2—2x+7 is divided by x+4 is :
(a) 28 (b) 29 ¢y 30 (dy 31

5. b=a+c eTand. ax?+bx+c=0 eTann SWEHUTL Q& APEMEET FOW erailed

(24) a=c (@)a=—c (@) a=2c () a=—2c
Let b=a+c. If the equation ax?+bx+¢=0 has equal roots, then :

(a) a=c by a=-c (c) a=2c (d) a=-2c
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2
G x1)| -1 |=(20) erafled x -6 wHIuTEg) :
3
oy L
(1) 7 () =7 @) 5 (m) 0
2
If (5x1)]—-1 |=1(20) then the value of xis:
3
- 1
(@) 7 ®) -7 © 3 @ o
4x+3y—12=0 eranm Cour&Car(h), v - méms Qaul b yerefl
(==1) (3, 0) (=25) (0, 4) (@) 349 () (0 -9)
The straight line 4x +3y—12=0 intersects the y - axis at ;
(@) (30 (b) (09 © G949 (d) (O -9

3x+6y+7=0 wimb 2x +ky=5 dwu CrrsCGar@psea Gomgssrarameu erafle
k -ébr gy -

() 1 () -1 (@) 2 (%) 3

The value of k, if the straight lines 3x + 6y +7=0 and 2x + ky =5 are perpendicular is :

1
(a) 1 (b) -1 © 2 @ 3

QemiGararr AABC -é £B=90° wHmyd BDLAC. BD=8 G&.15, AD=4Qg.15, érafle
CD = :
(1) 24 Qg8 (z4) 16 G&.8 (@) 32 Qg8 () 8 Q&ub

AABC is a right angled triangle where ZB=90° and BDLAC. If BD=8 cm,
AD=4cm,CDis:

(a) 24 cm (b) 16 cm () 32cm (d) 8cm

[ $wiiys / Turn over
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10. p&Garammuger ABC whmb DEF eug@eurgseneu. sieundlan ugliuereyses:
wennGus 100 Ga.15%, 49 Qeb? wpmw BC = 8.2 Qa5 eraflew EF =
(1) 547 Q&8 (<=4) 574 Qa8 (8) 647 Qa. b (rF) 6.74 Q&S

Triangles ABC and DEF are similar. If their areas are 100 em? and 49 cm? respectively
and BC is 8.2 em, then EF is

(a) 547 cm (b) 574 cm () 647 cm (d) 6.74 cm

2 ol __r . :
11. tanf=— crafled 2,2 & W&y
(<2() cosh (<24,) sind (8) cosech (FF) sec

a
[f tand = T then the value of >

a%+x

(a) cosb (b) sind (c) cosech (d) sect

12. (cos?8—1) (cot’6+1)+1=

(24)1 (<2) -1 (&) 2 () O
(cos?8—1) (cot20+1)+1=

(@) 1 () -1 (c) 2 (d 0

13. @ ChraulL 2 menarullen roreaig s 2wrsslew urd erafldr e
Qorgs LpULrLY

3 2
'Tfhzg_cgq_ (@) E -—-hzg_gg;q_ (77) E 7h 7.2

W RS

(1) -g wh &.3. (<24)

The total surface area of a solid right circular cylinder whose radius is half of its
height h is equal to

. 2 . 3 . 2 .
(a) % wh sq. units  (b) 3 wh? $q. units (¢) > wh? sq. units  (d) 3 wh sq. units
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14. n emuyse QeranrL ahs o aansalar QgreulneEb (Sx) - x =
(=1) nx () (n-2) X (@) (n-1)x () 0O
For any collection of nitems (Sx) —x=_____
(@) nx () (n-2)x (€ (n-1)x (d) 0
15. (W sTHTranT au(fLLomang) 53 @muilnmsdlipenngdr wHmid 53 Husl_&wpeawaer
Glaramg muusharear Hlenssea, -
1 2 3
(<) 5 () 5 @ 3 (%) 0
The probability that a non - leap year will have 53 Sundays and 53 Mondays is
1 2 3
@ > ®) © 3 @ o
9fley - 11/ SECTION - 11
(wHUQuemaeT : 20) / (Marks : 20)
@oiuy : () usgl ellemssEnsE olanLweallsaseayb. 10x2=20
(i) efenr erawr 30 -G sawTypLUrs ol walssabd. s
14 edlaraseiiall(mbg qCaab 9 eflamssmend Caiea| Clawwayb.
Note : () Answer 10 questions.

(i) Question number 30 is compulsory. Select any 9 questions from the first
14 questions.

16. P={a, b, c}, Q=(g h x, y} wOHMD R={a, e, f, s} erafled :
(i) P\R i) QNR - ps srears.
Let P={a, b, c}, Q={g h, x, y} and R={a, ¢, f, s} then find :
(i) P\R and (i) QnR

[ Swuys / Turn over
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1%

18.

19.

20.

21.

22.

23.

A={1, 2, 3, 4 5}, B=N wpgbd f : A->B paig fx)=22 oa
cueppumsELLL(Rareng). f -an eifsssamss srans. Gogib srider cumsamws
ST ERTE.

Let A={(1, 2, 3, 4, 5}, B=N and f : A—B be defined by f(x)=x?. Find the range of f.
Identify the type of function.

Qar®hssuul@perer Qgriflo wse 10 epuyseailar mBsd srans.
12-22432-4%+ ..

Find the sum of first 10 terms of the series 12—22+432 424 .

B.Qur.o.grams 3(a—1), 2(a—1)2 (a2-1).
Find the L.CM. of 3(a—1), 2(a—1)2 (a®—1).

Qar@&uul_@erer swamur@saiean gpamsar GLLQweaTsET WLHHD
Fwraens eraie k -@ear wHlewus srems 1212 +4kx+3=0.
Find the value of k for which the roots are real and equal in 12x?+ 4kx +3=0.

2 3) (1 5 o
A=[_9 5} - (7 _1] srafle, A -6 sl L Criwry afenns srans.

2 3 1 5 o
If A= - then find the additive inverse of A.
-9 5 7 -1

A6, 7), B(—4, 1) womibd C (a, —9) puapep wasarss CararL
AABC -& upgliLf 68 & Dje@sen erafle, ‘a” -an wHleus srer.

If the area of the AABC is 68 sq.units and the vertices are A(6, 7), B(—4, 1) and
C (a, —9) taken in order, find the value of ‘a".

AABC-& ZA erap GCaremgden o L yp @mswbeily AD arg, UESD
BC -g D -6 spH&Sng). BD=2.50s.5, AB=5Q&.15 wpmo AC=42 Q5.8 erafied
DC -enwis Sreans.

In AABC, the internal bisector AD of ZA meets the side BC at D. If BD=2.5 cm,
AB=5 cm and AC=42 cm, then find DC.
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24,

25.

26.

27.

28.

29.

&@é@& cosBV1+tan20 + sinfy1+cot’d

Simplify cosBy1+tan’8 + sinby1+cot’s

saufldy emigs eeusslulL @ gaflurearg saruLea 60° Caramsms
THuRESHEnE. gefiufen g sundidmbg 3.5 B grsHe 2 arerg) erefle.
geflulien Bersenss sTems.

A ladder leaning against a vertical wall makes an angle of 60° with the ground. The
foot of the ladder is 3.5 m away from the wall. Find the length of the ladder.

@ram® GCpir el e meersafler yrhiseaiean alfgwd 3 : 2 ars. Cogiw
Seupilen 2 wrkseen eflflgn 5: 3 aafld seupflan cuametiuruLgseafien
Nélgsmnss snams.

The radii of two right circular cylinders are in the ratio of 3 : 2 and their heights are in
the ratio 5 : 3. Find the ratio of their curved surface areas.

84 Q5.8 &L b Qaraw, gm Carer augeu Hamw o Cars arhlGagen s
SETENGUS STERTSH.

Find the volume of a sphere-shaped metallic shot-put having diameter of 8.4 cm.

W&o 13 Que aanasaian L cllwsssmas samsslHs.

Calculate the standard deviation of the first 13 natural numbers.

@ sramumsae @Cr sowsded sar@oCurg dls LLSLTIE @ Sme®
feLLugparer Hapsselamend &rams.

When two coins are tossed together, what is the probability of getting at most one
head ?

[ HBLys / Turn over
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30. (=) Wemeumd enfigafian Qumaashumear aumrumsstulQeensr s
Srwraflssab. Deuaurn euamrunsslugea Qumss eumb euflmsmwus
ST, Ay, s WOMIW By y
S0
(24) 3x—y+7=0 eranm Cpié CarliynE Q@amnuragin (1, —2) eearp yeraf
auldlé CQeveugiorar Grr&Gar_gen SLETUTLML & STaNs.
(a) Determine whether the matrix product is defined or not. If the product is defined
state the dimension of the product matrix for A, 5 and B;

x4
OR

(b)  Find the equation of the straight line parallel to the line 3x —y+7=0 and passing .
through the point (1, —2).

191fley - I11 / SECTION - III
(o Quainser : 45) / (Marks : 45)
@Ooy = () 9 efanrasens eflenwealigsad. 9x5=45
(i) efenm craw 45-6@ sevrigLiung eleLwelldayd. pgod 14 ellams
saflellpig TCaemb 8 ellamrsamers Garey Clelwayb.
Note : (i)  Answer 9 questions.

(i) Question number 45 is compulsory. Select any 8 questions from the first
14 questions.

31, U={-2-1,0123}A=(-223,4,5) whpd B={1,3,5,8,9} aTans. i wrirgaflen
sewr B0 efflenws sflurigsaib.
U={-2-1,0,1,2 3 A={-2,2 3,4 5 and B=(1, 3, 5, 8, 9]. Verify De Morgan’s
law of complementation.

32., A={5,6,7, 8 B=(-11,4,7, —10, =7, =9, =13} eraws f=((x, y); y=3—2x, xeA,
yeB} eran cuenTwmISSLLL(HeTerg).
(i) f-en emUuLSeneT (SIS
(i) e gewan WHAULSLD W ?
(i) eIFssD sraTS
(iv) ereucuensd FTTL TGS STERTS.
Let A={56,7 8 B={-11,4,7, -10, =7, =9, —13} and f={(x, y); y=3—2x, x€A,
yeB}
(i)  Write down the elements of f.
(i)  What is the co-domain ?
(i) What is the range ?
(iv) Identify the type of function.
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33,

34.

35.

36.

37

38.

9 e UGUHL JiMESFH cPATDIEs G cTarsatlen gnbhgh &TeTs.

Find the sum of all 3 digit natural numbers which are divisible by 9.

m—nx+28x% +12x3 + 9x* yang @ W wuTdEsh eafle m, n g dwuahBen
WHULSMETS HTeirs.

If m—nx+28x%+12x>+9x* is a perfect square, then find the values of m and n.

Qirert(h) eramsatien smBHse 24 wOMD cubleuaraatian smadpaaia ambHge

1 . . ) ) )
— ¢rafled eulleuemaanetsd srems.

6
. 1
Sum of two numbers is 24 and sum of their reciprocals is 5 find the numbers.
=2
A=14 1 pmbd B=(13 —6) eranm maflls@sés (AB)T = BT AT arémueng
5
sfluriés.
-2
If A=| 4 |and B=(1 3 —é) then verify that (AB)T = BT AT,
5

5x—8y+23=0, 7x+6y—71=0 ydlwu CriGsrisa sifsEd yeraf
auflurseyd, (5, 1), (-2, 2) @fwu yarellgar @evewryd CrrCasrliymnEé
Qemigsasrasalb sewud Crreerlige FoaureL. STars.

Find the equation of the straight line passing through the point of intersection of the

lines 5x—8y+23=0 and 7x+6y—71=0 and is perpendicular to the line joining the
points (5, 1) and (-2, 2).

(=4, =2), (=3, =5), (3, —2) wHmw (2, 3) pdlw yareflgsamer wpenensers Qara
BID&FHSET LFLILIETE| STaRTs.

Find the area of the quadrilateral formed by the points (=4, —2), (=3, =5), (3, —2)
and (2, 3).

[ @Q},Dqéﬁ / Turn over
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39.

40.

41.

42.

44.

Ggraren Cannsens erpd Hlmieys.

State and prove Pythagoras theorem.

60 B. 2 wgeperer e CaryrsHen 2.8 wHmbd g ydwepdlear QNEEE
Garemrser wamnGu 30° LMW 60° erafled L GHam 2 WrFmes sTamns.
From the top of a tower of height 60 m the angles of depression of the top and the

bottom of a building are observed to be 30° and 60° respectively. Find the height of the
building.

e earefLpp Cararglenr Qeuall LHMD 2o prhsar wapGu 12 As.5
wopd 10 Qa8 arefler &Caramslen sar eTeneusd SMeEms.

The outer and inner radii of a hollow sphere are 12 cm and 10 cm respectively. Find its
volume.

18 Q&.8. yrperer Hamo 2 Carss Camerwreang 2 maEsUUL® epemmy il
QeucuCeum Sierajerer CamaThiserTs auriasLIL@HEng). Geueurn eunmsslil L
Qe deamos Caramisallan risd wapCuw 2 Q.8 LHmWL 12 As.8
erasiey ppermreugy GCarersdlen 2y T5Henss STaws.

A spherical solid of radius 18 cm is melted and recast into three small solid spherical

spheres of different sizes. If the radii of two spheres are 2 cm and 12 cm. Find the
radius of the third sphere.

L lwsssmss sanssl(Hs.
38, 40, 34, 31, 28, 26, 34.

Calculate the standard deviation of the following :

38, 40, 34, 31, 28, 26, 34.

@ euded 10 Geudtenar 5 smLY 3 Lsme wHmD 2 Haly FApl ubgs6T
o drenan. swaumiiy weapwWd Casrpls@ssuudn em upg Ceudemer
SIDRF MUY Sdag usms Bipwrs Qmuusnsrea Hlspsseilana &Tams.

A bag contains 10 white, 5 black, 3 green and 2 red balls. One ball is drawn at random.
Find the probability that the ball is white or black or green.
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45. (=) 11 Qa8 12 Qs.18, 13 Qe.8, ... 24 Q5.8 pdwanop YopCu Lss
ereysarras QaTa 14 sgrrisaian Quorgsl LFiy STars.
YLV
(«25) 2~ ax +64 =0 erenp FUT Q& @ aped LHEADTW pasder Gm
LG eraflew ‘a’ -ar whlmus sTars.
(a) Find the total area of 14 squares whose sides are 11 cm, 12 ¢m, ... 24 cm respectively.
OR

(b) If one root of the equation 2x% —ax+64 =0 is twice the other, then tind the value
of ‘a’.

Wifley - IV / SECTION - IV
(o&UCuemser : 20) / (Marks : 20)
@Dy : aulleurm slareligib e.eren Gram® wrhp Nerssallad@mha @
ofenmencug Cerbshss Bm daréaEna@n el welldseb. 2x10=20
Note : Answer both the questions choosing either of the alternatives.
46. (=) BC=5 Q&8 Z/A=45" wpmb 2.68 A -AmoHsH BC-6@ cuemruuulL
BH&GCEr_yen Fard 4 @515 erem G(p&E@ LU AABC auanys.
S0V G
(24)10 Q&.15 el qperer @ ul_L1b eumrs. eulLgdler enwwdHlembg)
13 Qg8 Qgrenaweiley P eramy yareflaws Ghlss =il erefludied mbs)
L gSD@ PA wHmb PB aarp Qsr(Csrser euarkg oigsen
BerhseneT sans(Hs.

(a) Construct a AABC such that BC=5 cm, ZA =45° and the median from A to BC
is 4 cm

OK

(b) Draw a circle of diameter 10 cm. From a point P, 13 cm away from its centre,
draw the two tangents PA and PB to the circle and measure their lengths.

[ imOus / Turn over
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47, {(3) euanguL b epatd §rés 22 +x—6=0.
JLIRVVE
(9) xy=20, x, y> 0 TETLFE QUETULLD GUMTSH. HSDHAT LWETURSSH x=5
arafla y-ann wdlleub y=10 afle, x-a1 wHlamuwd STaTs;
(a) Solve graphically 2x2+x—6=0.
OR
(b) Draw the graph of xy=20, x, y > (.
Use the graph to find y, when x=5 and to find x when y=10.

~-olo-



